
TOURISM
 

ABC company has n employees numbered from 0. Each employee is managed by up to 1 other
employee and has no cross-management (No trio exists: A manages B, B manages C, C
manages A). The company wants to organize travel for its employees but the staff does not want
to go with their superiors (the direct manager or higher) because they feel uncomfortable. The
company will need to organize at least how many groups so there are no employees and
superiors in the same group.

Note that the company has a director, not managed by any other employee.

Input

The first line contains the number of employees n, m (0 ≤ n, m ≤ 105) the number of employees
and the number of management relationships.

The next m lines contain two integers u, v representing u as a direct manager of v.

Output

Minimum number of groups.

Example

Input:
5 4
2 4
4 1
3 2
3 0

Output:
4
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